Ifthelinex =2+ 3t, y=—-4t, z=5+1t
intersects the plane 2x — y+ z = =2 at (a, b, ¢)
thena+ b+ ¢ =

Select one:
-2
4
8

The correct answer is: 7



Let r(f) = €'i + (e’ sint)j + (e’ cos 1)k,
0 <t < 7. Then the normal component of
acceleration ay =

Select one:

0 2¢
Vet

2 3t

V3
e

The correct answer is: \/ie’



A vector in two dimensional space 7 that makes
an angle % with the positive x—axis and with

| 7| = 6 is given by:

Select one:

U =-3vV2i+3V2

=6

= : . v
—3\/§l+3\/§]

=SB =8

v
é
v
-1
_>
v
U=-3v2i-3V2j

The correct answer is: ? = A0 3\/§j



If B} is the vector projection of

onto Z = 2i — 3k, then a —il3
Select one:
10i — 15k
O =3i+j+4k *
2i — 3k
=i EN ] G
91 Fj— 14k

The correct answer is: 9i + j — 14k



The set of points in R> described by
x> +y* +z° -4y =0,
()= ()

Select one:
line segment from (0, 2, 2) to (0, 2, v/3)
a circle with radius 3
a parabola with vertex (0, 2, v/3)
a circle with center (0, 2, 1/3)

© empty set

The correct answer is: a circle with center

0,2,4/3)



Letr(r) = e'i + (e’ sint)j + (e’ cos 1)k,
O <t < x. Then the curvature x is

Select one:

2 —t

; 2
The correct answer is: 48

— 4



If 6 is the angle between the nonzero vectors a

_)
and b, thencotf =

Select one:

_)_)

a-b

8)

S

Q

!
- S S}
S

Q| gl S
X

X

> |

Fomm

8]

l§¢

o)

o) (8!

— [
s St

_)—)
a-b

The correct answer Is:

. —>
|27><b|



The graph of the equation
x? —y* + 22 — 4x + 2y — 6z = k is a cone if

Select one:
o=l
0 k=-12 v
o= L2
k> 12

The correct answeris: kK = —12



If the area of the triangle with vertices
P(1,0,0), O2,1,x) and R(—1,1,—1) is equal

to%, x > 0, thenx =

Select one:
o 3

13
5

®§I|_§|

The correct answer is: 3



If the area of the triangle with vertices
P(1,0,0), O2,1,x) and R(—1,1,—1) is equal

to %, x >0 then x =
Select one:
O 3 ¥

13
5
V2
I
V2
6

The correct answer is: 3



The graph of the equation
x> —y* + 2> —4x + 2y — 6z = k is a cone if

Select one:
k=i
k==—1) v
k=l
k=

The correct answeris: kK = —12



The equation
x? + y* + z> — 2x — 4y + 8z = 15 represents

Select one:
a point
no graph in R’

a sphere with center (0, 0, 0) and radius %

a sphere with center (0, —2, %) and radius 7

© a sphere with center (1,2, —4) and radius ¥
6

The correct answer is: a sphere with center
(1,2, —4) and radius 6



Letr(f) = e'i + (e’ sint)j + (€' cost)k,
0 <t < 7. Then the speed |v(?)| =

Select one:

\V3e'
O 3e%

3e!
/3

The correct answer is: ﬁe’



Let r(f) = cos® fi + sin’ £j, 0 < t < Z. Then the
unit tangent vector T(7) is

Select one:
T(t) =sint 1+ cost |

T(t) = —sint 1+ cost ]
T(t) = —cost1+ sint v

T(t) = —cost1—sint ]

The correct answeris: T(f) = —cosf 1+ sint j



Let A(1,0,—4), B(4,4,8), and C(a, b, ¢) be
—
points in three dimensional space. If AC is the unit
—_—
vector in the same direction as A B, then

26(a + b+ ¢) =
Select one:
10
o —40 v
20

50

The correct answer is: —40



Symmetric equations for the line through the point
(1, =2, —4) that is orthogonal to the plane
2x — y+ 3z = 5 are given by

Select one:
x=1 _ z+4
i
x+l _ y—2 _ A
V14 V14 V14
x+1 _ y=2 _ z-4
0w = e G
x—1 _ y+2 _ z+4
V14 V14 V14

o x-1 _ yt2 _ z+4 v
T




Let 1(¢) = cos” ti + sin’ g G % Then the
arc length parameter for r(¢) is (take 1y = 0)

Select one:

(o %sin2 { v

sin? ¢

| 2
2COS [

3

=
> SIn [

; = LY
The correct answer Is: 5 Sl 1



